Honors Advanced Algebra DATE:
Compound Probability Cont’d

Geview Problems )
1) Are the following events independent or dependent?
a) Suppose event A is “earned a bachelor’s degree” and event B is “earning more than $100,000 per

year” (-D-QPQ/\f\o\b\f\'t' — Y ncomme (s deperdnt m educatom

b) Two 24 year old male drivers who live in the United States are randomly selected. Event A is “male
1 gets in a car accident during the year” and event B is “male 2 gets in a car accident during the

year” —Iy\oL\L’)%Mr —_ T wo males went rww&mly salected

Y

2) Suppose you have a bag containing 2 black marbles and 3 red marbles. You reach into the bag and

randomly select a marb l@lﬁ]ﬂ_ace_m&nl)(%en you repeat the process one more time. Are the two
\(  events dependent or independent? What is the probability of plckmg a red marble both times?
you put '+ bacl o bag LWhat 3 prob. of preleng red marble a.w( hewred ”‘“g“
. P(ANB) =P(a)s P(B)
,.Ly\ou,P-b‘—‘ A'""{’ - :S__ o :’2_} = 3;_
Toteh =8 % ',\S\o#s -
3) Suppose you have a bag of chips numbered 0, 1,2, 3,4, 5,6, 7, 8, and 9. Let E be the event “choose a
number at most 2” and F be the event “choose a number greater than 7”. Draw a Venn diagram to

—rgpresent this situation. Are these events mutually exclusive (or disjoint)? Find P(EUF). _
UV & Notire 3.4.5,¢,7 art ™ +ae complement of EVF

p = =
o The events Eamd F sat mubwdty exelviive (erdiyoirt)
!/;2 9,9 ""L-L\j da\l'\" e/w_,rla,? 6 howvwe at.ng%hwb (n commen,

Nt b PEVE) = P(EY + P(F)= % »r-%;(of =L

4) Suppose that a single card is selected from a standard 52-card deck. What is the probability of event
A = “drawing a king” or B = “drawing a diamond”?
Cee Sample Spaes Adeche on next pase

P(dron kimg  ov drawny dommeond) = P(drano bimg) + P(ruw divamend ) - P lerng ool
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PCAUR)= PAY+P(B) —2(AND = * 32 = - sz "o
5) Suppose you have a bag containing 2 black marbles and 3 red marbles. You reach into the bag and
randomly select a marble (without replacement). Then you repeat the process one more time. Are the
two events dependent or independent? What is the probability of picking a red marble both times?
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In general, an Independent Event occurs W P‘\ ~2 P (actrrnont
and a Dependent Event occurs wWithevt rplacgment

Explain this in your own words:
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Probability with Compound Events (Independent and Dependent)
Practice

Describe the events by writing X for independent event-or D for dependent event:

Ann draws a colored toothpick from a jar. Without replacing it, she draws a second toothpick. /D
." John rolls a six on a-number cube and then flips a coin that comes up heads. _——

Susie draws a card from a deck of cards and replaces it. She then draws a second card. s =
Semdtawsaoobredtileﬁomabag,replaoslt'drawsaseoondnlefmmmebag,replacesit'andthen
draws a tile a third time from the bag. __ —T— rD
5. You draw a red marble from a bag, and then another red marble (without replacing the first marble)? _*+~

Using the two spinners, find each compound probability. —> A/l rints tasiparvationd

AND W i
6. P(Aand 2) ~TA-=4 F 7! PDand1)__¥% 8 P(Band3)__3________ € panis
Po> n 1) = P(o). PQY) ’?(33 PC!»)

9. P(A and not 2) -+ 3 dh
PCAN2S) aP(A)- P(2©) e Lol
= ..L &,: ;2% A ’
e V
/AboxmntaimBrednxarbles,Gbmemarbies and 1 white marble. The marbles
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23, Kevin had 6 nickels and 4 dimes in his pocket. Ifhetnokoutonecoinandmenasecondmmwx&mut
- replacing the first coin - .5, 2.k
(a) whatismeprobabilltythatboﬁmoolmwerenidmls? Plarude 0 noctld) (65 ° 90 3
3 -1z 2
(b) whatlsmepmbabmtythatboﬂmomsweredims? V(ome (\ oLirms) % 9 qo (¢
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are selected at.random, one at a time, and are not Hndeachcom nd probabil >al<,=m+ even fs
Plolue N red) = Plblin) » P(red) L —E@-@ pound p ity. i

> > -l_
10. P(blue and red) = &~ £ =22~ 1. P(blue and blue) q° g 312. P(red and white and blue) 15~ 4" T ™
13. P(red and red and red) 'Woi-g 14. P(white and red and white) 15" 3 " 5 = O

Supposeﬁ\attwobl&saredra%ﬁmnthecollecﬁonshownatthenght. The first tile is [E]@@ — dek (5
replaced beforetheseoondlsdrawn ﬁndeachcompound Qrobabilfty Tndeperddent .@@.@ b
j-‘/r _ (8 :
15. P(Aand A) = 5“5 16, PRand ) = £ 2705 17 pAandnatR) = v r @@@@@
Suppose that two tiles are drawn from the same collection shown above. Theﬁrstﬁleisggt_rggg@before
the second is drawn. Find each compound probabimy apemdin &
+ % 1Lk 3 1L = 3/ '2_ Fa le ,i‘

18. P(AandA) i i< “ 75 19. P(Rand C) = 5352 5] P(Aand notR)y _is 4 20 /0%
Use the spinner to the right for the next two problems.

21. If you spin the spinner twice, what is the probability of 2 2 -k =ZL il &
splnnlngo;angemenbrown? ?('Anﬁ,) b C 3
Brown

2. If you~spin the spin_ner twice, what is the probability of 3.3 .-1.
spinning brown both times? N T
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(b)whatlst:heprobabllftymatmeﬁrstcolnwasamdce!andmesemndadime? o 1 g0



